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QUESTION 1

Which statement is true regarding SAN storage in IBM Cloud Virtual Servers? 

A. Moved disks keep the storage type of the source server 

B. Public virtual servers that use balanced local storage can detach secondary disks 

C. It is built on disks that are local to the virtual server host 

D. All secondary disks are attached as portable storage 

Correct Answer: B 

 

QUESTION 2

Machine Learning uses which approach for learning through trial and error? 

A. Probabilistic Learning 

B. Deductive Learning 

C. Iterative Learning 

D. Reinforcement Learning 

Correct Answer: D 

 

QUESTION 3

What IBM Cloud Service can be used to view test results and trend information about builds, deployments and tests to
understand changes over time? 

A. Toolchain 

B. Continuous Delivery 

C. DevOps Insights 

D. Availability Monitoring 

Correct Answer: C 

 

QUESTION 4

Which two tasks are required when updating a function in IBM Cloud Functions? 

A. Package any application dependencies 
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B. Reset trigger 

C. Update business logic 

D. Create new Persistent Volume (PV) 

E. Update Java Classpath 

Correct Answer: DE 

 

QUESTION 5

Which statement describes the Culture phase of Garage Method? 

A. Ensure operational excellence with continuous application monitoring 

B. Incrementally deliver solutions by using IBM Design Thinking 

C. Transform the organization by combining business, technology, and process innovations 

D. Accelerate time-to-market through continuous integration and continuous deployment 

Correct Answer: A 

 

QUESTION 6

What two classes of device does the IBM Watson loT Platform support? 

A. Autonomous devices 

B. Remote devices 

C. Local devices 

D. Unmanaged devices 

E. Managed devices 

Correct Answer: AE 

 

QUESTION 7

What term describes applications specifically designed to run in cloud environments? 

A. Cloud-Native 

B. Legacy 

C. Event-Driven 

D. Serverless 
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Correct Answer: C 

 

QUESTION 8

Which statement describes IBM Cloud Private? 

A. An application platform for developing and managing containerized applications 

B. A dedicated on-premises instance of Cloud Foundry 

C. A Cloud Foundry based environment designed to orchestrate microservices across cloud service providers 

D. A multi-tenant platform built on Kubernetes designed to host cloud native applications 

Correct Answer: C 

 

QUESTION 9

Which statement describes Platform as a Service? 

A. PaaS enables users to consume software applications on a per-user subscription basis 

B. PaaS provides users with the tools to develop and deploy applications 

C. PaaS provides users with a catalog from which they can provision applications 

D. PaaS enables users to manage operating system patching schedules for bare metal servers 

Correct Answer: B 

 

QUESTION 10

How is continuous monitoring of cluster health provided on the IBM Cloud Kubernetes Service? 

A. Docker Dashboard 

B. SoftLayer Dashboard 

C. Cluster Dashboard 

D. Watson Health Dashboard 

Correct Answer: C 

 

QUESTION 11

What does Zerto on IBM Cloud provide? 

A. Replication and disaster recovery functions 
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B. Data security for virtual environments 

C. 24x7 highly available service to manage encryption keys 

D. Encryption al the operating system and data level 

Correct Answer: A 

 

QUESTION 12

Deep Learning is most useful with what type of data? 

A. Regional 

B. Unstructured 

C. Layered 

D. Structured 

Correct Answer: B 

 

QUESTION 13

When dealing with multiple cloud vendors, which model has emerged as a viable option to simplifying the buying and
management processes? 

A. IT as a Service (ITaaS) 

B. DevOps 

C. Infrastructure as Code (laC) 

D. OpenStaok 

Correct Answer: C 

 

QUESTION 14

What is the role of Data Anonymization in Watson Knowledge Catalog? 

A. It is the process to remove data columns that contain sensitive confidential data, such as PII or restricted business
data, while preserving data from the other column that are not confidential or restricted 

B. It is the processing of personal data in such a way that the data can no longer be attributed to a specific data subject
without the use of additional information. 

C. It is the process to mask data column that contain sensitive confidential such as PII or restricted business data, using
encryption software to provide access keys. 

D. It is the encryption of data prior to transmission across networks. 
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Correct Answer: C 

 

QUESTION 15

IBM Watson IoT supports which protocols for communication with IoT devices? 

A. DNP3 

B. MQTT 

C. ModBus 

D. TPS 

Correct Answer: B 
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